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1. (2 points) Nomenclature:

(a) N2O4 c,im“}vz@m W o de (b) aluminum nitride Al r\{

2. (2 points) When a gas is collected over a liquid, for example, water, in addition to the gas there water
in the gas phase. This is also called the Sé ‘w E\/"p;%.j we. of water.
3. (2 points) What temperature and pressurelcorrespond to STP?
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4. (3 points) Calculate the pressure in a 3.0 L can that is filled with 2.0 g of argon, 0.30grams of

hydrogen and 2.0 grams of oxygen at 35.0°C. (D\J = T
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5. (3 points) Solutions of nitric acid and sodium hydroxide are mixed. (a) Write the balance molecular
equation for the reaction and (b) write the net ionic equation for the reaction. Show all (s), (/), (g) and
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6.(3 points) What volume of CO(g) at 0.0°C and 1.00 atm from the decomposition of 0.500CaCOs(s)?
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